
 

  

 

 

B.Com. DEGREE EXAMINATION –   
JUNE, 2019. 

Second Year 

CORPORATE ACCOUNTING  

Time : 3 hours Maximum  marks : 75 

PART A — (3  15 = 15 marks)  

Answer any THREE questions. 

1. What is External Reconstruction and purchase 
consideration? 

 ¦Ó^º Aø©¨¦ ©ØÖ® öPõÒ•uÀ ©Ö £¯ß GßÓõÀ 

GßÚ? 

2. What is meant by liquidation of a company and 
list out modes of liquidation? 

 {ÖÁÚU Pø»¨¦ GßÓõÀ GßÚ? Pø»¨¤ß 

•øÓPøÍ Á›ø\¨£kzuÄ®. 

3. What is amalgamation and state the objectives of 
amalgamation? 

 Cøn¨¦ GßÓõÀ GßÚ? ©ØÖ® Cøn¨¤ß 

÷|õUP[PøÍU u¸P. 
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4. A company issues 20,000 shares, the issue is 
underwritten by X, Y and Z in the ration of 5 : 3 : 2 
respectively. Unmarked applications total 1000 
whereas marked applications are as follows. 

X 8000 : Y 2850 : Z 4150 

 Calculate the liability of each underwriter. 

 J¸ {Ö©® 20,000 £[SPÒ ÂØQÓx. Ax 

•Êø©¯õP X, Y, Z GßÓ |£ºPÍõÀ 5 : 3 : 2 

ÂQuzvÀ ÂØÖzuμ Ehß£õk HØ£mhx 

SÔ°h¨¤mh Âsn¨£[PÒ ¤ßÁõÖ©õÖ. 

X 8000 : Y 2850 : Z 4150 

 SÔ°h¨£hõu Âsn¨£[PÒ – 1000 

 X, Y, Z –ß {Pμ ö£õÖ¨¤øÚ PõsP. 

5. Ramadan Ltd. Agrees to purchase the business of 
Krishnan Ltd. On the following terms 

 (a) For each of the 10000 shares of Rs. 10 each 
in Krishnan Ltd. 2 shares in Raman Ltd. Of 
Rs. 10 each will be issued at an agreed value 
of Rs. 12 per share. In addition, Rs. 4 per 
share cash also will be paid 
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 (b) 8% debentures worth Rs. 80,000 will be 
issued to settle the Rs. 60,000 9% debentures 
in Krishnan Ltd. 

 (c) Rs. 10,000 will be paid towards expenses of 
winding up. 

 Calculate the purchase consideration. 

μõ©ß ¼ªöhm RÌUPsh {£¢uøÚPÎß£i  

Q¸ènß ¼ªöhmiß öuõÈø» Áõ[P •iÄ 

ö\´ux.  

(A) Q¸ènß ¼ªöhmiß ¹. 10 Ãu® ©v¨¦ÒÍ 

10,000 £[SPÒ JÆöÁõßÔØS® μõ©ß 

¼ªöhmiÀ ¹. 10 Ãu® ©v¨¦ÒÍ 2 £[SPÒ 

JßÖ ¹. 12 Ãu® AÎUP¨£h ÷Ásk®. 

CuÝhß Tku»õP JÆöÁõ¸ £[QØS® ¹. 4 

Ãu® öμõUP® AÎUP¨£h ÷Ásk®. 

(B) Q¸ènß ¼ªöhmiß ¹. 60,000 9% 

PhÜmk¨ £zvμ[PøÍ wºÄ ö\´ÁuØS ¹. 

80,000 8% PhÜmk¨ £zvμ[PÒ öÁÎ°h 

÷Ásk®. 

(C) Pø»¨¦ ö\»ÄPÐUPõP ¹. 10,000 ÁÇ[P¨£h 

÷Ásk®. 

öPõÒ•uÀ ©Ö£¯øÚU PnUQkP. 
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PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the different kinds of shares. 

 £[SPÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

7. Explain the various methods of calculating 
purchase consideration. 

 öPõÒ•uÀ ©Ö£¯øÚ PnUQk® £À÷ÁÓ •øÓPøÍ 

ÂÁ›. 

8. Short notes :  

 (a)  Cum-Interest quotation  

 (b)  Capital Redemption Reserve 

 (c)  Profits prior to incorporation of company. 

]Ö SÔ¨¦ : 

(A) Ámiø¯ EÒÍhUQ¯ Âø»ø¯U öPõsh 

J¨£¢u¦ÒÎ 

(B) ‰»uÚ «m¦ Põ¨¦ 

(C) J¸ {Ö©® £vÄ ö\´ÁuØS •¢øu¯ C»õ£®. 
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9. The alpha manufacturing company Ltd. was 
registered with a nominal capital of 60,000 equity 
shares of Rs. 10 each. The following is the list of 
balances extracted from its books on 31st  
December, 2003. 

        Rs.                                     Rs. 

 Calls in Arrear  7,500 General Expenses 16,835 

 Premises 3,00,000 Freight  13,115 

 Plant 3,30,000 Salaries 14,500 

 Interim dividend  37,500 Directors fees 5,725 

 Stock 1.1.03  75,000 Bad debts 2,110 

 Fixtures  7,200 Debenture interest paid 9,000 

 Debtors  87,000 Subscribed and called 

 Goodwill  25,000 up capital 4,00,000 

 Cash in hand  750 6% Debentures 3,00,000 

 Cash at Bank  39,900 Profit and loss a/c (Cr) 14,500 

 Purchases 1,85,000 Bills payable 38,000 

 Preliminary   Creditors 50,000 

 Expenses  5,000 Sales  4,15,000 

 Wages  84,865 General reserve 25,000 

     Bad debts provision 3,500 

 Prepare trending and profit and loss a/c and 
balance sheet in proper form after considering the 
following adjustments 

 (a) Depreciate plant by 10% 

 (b) Write off Rs. 500 from preliminary expenses 
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 (c) Provide half year’s debenture interest due 

 (d) Create 5% provision on debtors 

 (e) Closing stock Rs. 95,000. 

 BÀ£õ EØ£zv {Ö©® JÆöÁõßÖ® ¹. 10 ©v¨¦ÒÍ 

60,000 ÷|ºø©¨ £[SPøÍ A[RP›UP¨£mh •u»õP 

öPõskÒÍx. ¤ßÁ¸® C¸¨¦PÒ PnU÷PkPÎ¼¸¢x 

31.12.03 À GkUP¨£mhÚ. 

              ¹.                                    ¹. 

 AøÇ¨¦ {¾øÁ  7,500 ö£õxa ö\»ÄPÒ 16,835 

 Pmih® 3,00,000 \zu®  13,115 

 ö£õÔ 3,30,000 \®£Í® 14,500 

 CøhUPõ» £[Põuõ¯®  37,500 C¯US|º Pmhn® 5,725 

 öuõhUP \μUS 1.1.03  75,000 ÁμõUPhß 2,110 

 ö£õ¸zv¯øÁPÒ  7,200 Phß £zvμ Ámi  

 PhÚõÎPÒ  87,000 öPõkzux 9,000 

 |Øö£¯º  25,000 AøÇzu £[S•uÀ 4,00,000  

 øP°¸¨¦ öμõUP®  750 6% PhÜmk £zvμ[PÒ 3,00,000 

 Á[Q°À öμõUP®  39,900 »õ£ |mh PnUS (Á) 14,500 

 öPõÒ•uÀ 1,85,000 ö\¾zx Esi¯À 38,000 

 öuõhUPa ö\»ÄPÒ  5,000 PhÜ¢÷uõº 50,000 

 T¼   84,865 ÂØ£øÚ 4,15,000 

     ö£õxU Põ¨¦ 25,000 

     I¯UPhß JxUS (1.1.03) 3,500 
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 RÌPsh \›PmkuÀPøÍ PnUQÀ Gkzu ¤ÓS, 

Â¯õ£õμ C»õ£ |mhz PnUS ©ØÖ® C¸¨¦{ø»U 

SÔ¨¤øÚ E›¯ ÁiÁzvÀ u¯õ›UPÄ®. 

 \›PmkuÀPÒ : 

 (A) ö£õÔ°ß «x ÷u´©õÚ® 10% 

 (B) öuõhUP ö\»ÄPÎÀ ¹. 500 ÷£õUöPÊxP 

 (C) Phß £zvμ Ámi Aøμ¯õskUS uμ 

÷Ási²ÒÍx 

 (D) PhÚõÎPÒ «x 5% I¯UPhß JxUS HØ£kzxP 

 (E) CÖva \μUS ¹. 95,000. 

10. Following is the balance sheet of X Ltd. As on 
31.12.01. 

 Rs.  Rs. 

6% Redeemable preference   Sundry Assets 1,70,000 

shares of Rs. 100 each.  1,00,000 Bank 1,12,000 

Equity shares of Rs. 10 each 1,00,000   

Share premium 2,000   

General Reserve 70,000   

Profit and loss A/c 10,000   

 2,82,000  2,82,000 
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 In under to redeem the preference shares 7,000 
equity shares of Rs. 10 each issued at per. The 
preference shares were redeemed at a premium of 
10% give journal entries and balance sheet after 
redemption of preference shares. 

 31.12.01 ® Bsiß X {ÖÁÚzvß C¸¨¦{ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ. 

 ¹.  ¹. 

6% «m¦ •ßÝ›ø©¨   Cuμ ö\õzxUPÒ 1,70,000 

£[SPÒ ¹. 100 Ãu® 1,00,000 Á[Q 1,12,000 

\õuõμn¨ £[SPÒ ¹. 10 Ãu® 1,00,000   

£[S •øÚ©® 2,000   

ö£õx Põ¨¦ 70,000   

C»õ£ |mh PnUS 10,000   

 2,82,000  2,82,000 

 •ßÝ›ø©¨ £[SPøÍ¨ «m¦ ö\´ÁuØPõP 7,000 

\õuõμn¨ £[SøÍ ¹. 10 Ãu® •P ©v¨¤À 

öÁÎ°mhx. •ßÝ›ø©¨ £[SPøÍ 10% 

•øÚ©zvÀ «m¦ ö\´¯¨£kQÓx. ÷uøÁ¯õÚ 

SÔ¨¥mk¨ £vÄPøÍ²® «m¦ ö\´u ¤ß 

C¸¨¦{ø»U SÔ¨ø£²® u¯õ›UPÄ®. 
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11. Z Ltd. is incorporated on 1.5.93 to take over the 
business of Y Co. as a going concern from 1.1.93 
the profit and loss account for the year ending 
31.12.93 is as follows. 

Profit and loss account of Z Ltd., for the year ending 
31.12.1993 

            Rs.                                     Rs. 

 To Salaries 72,000  By Cross Profit 3,10,000 

 To Rent and Taxes 24,000 

 To Commission 12,000 

 To Insurance 6,000 

 To Electric Charges 4,800 

 To Directors fees 6,000 

 To Audit Fees 3,200 

 To Advertisement 8,000 

 To Discount 7,000 

 To Office Expense 15,000 

 To Carriage outward 6,000 

 To interest on loan 6,000 

 To bank charges 3,000 

 To Preliminary expenses 13,000 

 To Bad debts 4,000 

 Net profit 1,20,000 

        3,10,000  3,10,000 
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 Total sales for the year ending 31.12.93 is  
Rs. 10,00,000 divided into Rs. 3,00,000 for the 
period up to 1.5.1993 and 7,00,000 for the 
remaining period. Find the net profit up to 
incorporation of the company and after 
incorporation of the company. 

Z ¼m. 1.5.93 AßÖ Tmk¸ÁõUP® ö\´¯¨£mk  

Y Aß÷Põ GßÓ öuõÈÀ {ÖÁÚzøu 1.1.93–¼¸¢x 

HØÖU öPõshx. 31.12.93 ÷uv÷¯õk •iÁøh¢u 

BsiØPõÚ »õ£ |èh P/S ¤ßÁ¸©õÖ. 

C»õ |mh P/S (31.12.1993) 

            ¹.                                     ¹. 

 \®£Í® 72,000  ö©õzu C»õ£® 3,10,000 

 ÁõhøP²® Á›²® 24,000 

 uμS 12,000 

 Põ¨¥k 6,000 

 ªß\õμ ö\»Ä 4,800 

 C¯US|º Pmhn® 6,000 

 uoUøP¯õÍº Pmhn® 3,200 

 ÂÍ®£μ® 8,000 

 uÒÐ£i 7,000 
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                           ¹.                                    ¹. 

 A¾Á»P ö\»ÄPÒ 15,000 

 öÁÎ yUS T¼ 6,000 

 Phß «x Ámi 6,000 

 Á[QU Pmhn® 3,000 

 ÷uõØÖÂ¨¦a ö\»ÄPÒ 13,000 

 ÁμõU Phß 4,000 

 {Pμ »õ£® 1,20,000 

        3,10,000  3,10,000 

 31.12.1993 Áøμ°»õÚ ö©õzu ÂØ£øÚ  

¹. 10,00,000 BS®. AvÀ ¹. 3,00,000, 1.5.93  

Áøμ°¾® ¹. 7,00,000 Auß ¤ÓS® HØ£mhx. 

{Ö©zvß Tmk¸ÁõUPzvØS •ß ©ØÖ® ¤ß 

EshõÚ {Pμ »õ£zøu PnUQkP. 

12. The following particulars relate to a limited 
company which has gone into voluntary 
liquidation. You are required to prepare the 
liquidator’s final account allowing for his 
remuneration @ 3% on the amount realised and 
2 2

1 % on the amount paid to the unsecured 

creditors. 
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 Share capital issued : 

 5000 preference of Rs. 100 each (fully paid) 30000 
equity shares of Rs. 10 each fully paid Rs. 12,000 
equity shares of Rs. 10 each, Rs 8 paid. 

 Assets realised Rs. 9,24,000 excluding amount 
realised by sale of securities held by the secured 
creditors. 

 Rs. 

Preferential creditors 24,000 

Unsecured creditors 8,51,094 

Secured Creditors  

(Security realised Rs. 1,62,000  

Debentures having a floating charge 1,38.000 

On the assets 3,00,000 

Expenses of liquidation amounted to 9,000 

 A Call of Rs. 2 per share on the partly paid equity 
shares was duly paid except in case of one 
shareholder owning 1200 shares. 
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 uõ©õP÷Á Pø»¨¤ØSÒÍõÚ J¸ Áøμ¯Ö {Ö©zvß 

Â£μ[PÒ R÷Ç uμ¨£mkÒÍÚ. Pø»¨£õÍ¸US 

ö\õzxUPÒ wºÄ ö\´¯¨£mhvÀ 3% –•® ©ØÖ® 

¤øn¯©ØÓ PhÜ¢÷uõºPÐUS ö\¾zx® öuõøP°À  

 2 2
1 % –•® Fv¯©õPU PnUQmk Pø»¨£õÍ›ß 

CÖvU PnUPÔUøPø¯z u¯õº ö\´P. 

 £[S •uÀ öÁÎ°mhx : 

 5,000 •ßÝ›ø©¨ £[SPÒ ¹. 100 Ãu® (•ÊÁx®   

ö\¾zu¨£mhx) 

 30000 ÷|ºø©¨ £[SPÒ ¹.10 Ãu® •ÊÁx® 

ö\¾zu¨£mhx 

 12000 ÷|ºø©¨ £[SPÒ ¹.10 Ãu® ¹.8 

ö\¾zu¨£mhx 

 ö\õzxUPÒ ÂØÖ wºÁõÚx ¹. 9,24,000 CvÀ 

¤øn¯U PhÜ¢÷uõºPÎh® ¤øn¯•ÒÍ 

ö\õzxUPÒ ÂØÓx ÷\ºUP¨£hÂÀø». 

 ¹. 

•ßÝ›ø© PhÜ¢÷uõºPÒ 24,000 

¤øn¯©ØÓ PhÜ¢÷uõºPÒ 8,51,094 

¤øn¯U PhÜ¢÷uõºPÒ  
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 ¹. 

(¤øn¯U ö\õzxUPÒ ÂØÓx ¹. 1,62,000) 1,38,000 

ö\õzxUPÒ «x ¤øn¯•øh¯   

PhÜmk¨ £zvμ[PÒ 3,00,000 

Pø»¨¦a ö\»ÄPÒ  9,000 

 1200 £[SPøÍ øÁzv¸US® J¸ £[Suõμº uÂμ 

AøÚÁ›hª¸¢x® ¹. 2 £Sv ö\¾zu¨£mh 

£[SPÒ «x AøÇ¨¦¨ £n©õP¨ ö£Ó¨£mhx. 

____________ 



  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE 2019. 

Second Year 

Corporate Secretaryship 

COMMERCIAL LAW AND INDUSTRIAL LAW 

Time : 3 hours Maximum  marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1.  Define contract. 

 J¨£¢u® C»UPn® u¸P. 

2.  What is meant by contract of Agency? 

 •Pø© J¨£¢u® GßÓõÀ GßÚ? 

3.  What are Specific Goods? 

 SÔ¨¤mh ö£õ¸mPÒ ¯õx? 

 UG-227 BCS-22
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4.  Write short note on child labour. 

 SÇ¢øuz öuõÈ»õÍº ]Ö SÔ¨¦ ÁøμP. 

5.  What is an accident under workmen’s 
compensation act 1923? 

 öuõÈ»õÍº |mh Dk \mh® 1923&ß £i Â£zx 

GßÓõÀ GßÚ? 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. State the essentials of a valid contract. 

 ö\À»UTi¯ J¨£¢uzvß CßÔ¯ø©¯õ TÖPøÍz 

u¸P. 

7. “Where there is right, there is remedy” - -– Explain. 

 “E›ø© EÒÍ ChzvÀ wºÄ EÒÍx” & ÂÁ›. 

8. State the differences between Condition and 
Warranty. 

 {£¢uøÚUS® EzuμÁõuzvØS® Cøh÷¯ EÒÍ 

÷ÁÖ£õkPøÍz u¸P. 

9. State the rules regarding annual leave with 
wages. 

 Fv¯zxhß Ti¯ Bsk Âk¨¦ SÔzu 

Âv•øÓPøÍz u¸P. 



 UG-227 3

10. What are the rights of employees under ESI 
Act1948? 

 £o¯õÍº Põ¨¥mka \mh® 1948&ß £i £o¯õÍ›ß 

E›ø©PÒ ¯õx? 

11. Distinguish between valid, void and voidable 
contracts. 

 ö\ÀuS, ö\À»õu ©ØÖ® ö\À»õuuõUP Ti¯ 

J¨£¢u[PøÍ ÷ÁÖ£kzvU PõmkP. 

12. Explain the doctrine of ‘Caveat Emptor’ with its 
exceptions. 

 “Áõ[S£Áº áõUQμøu” ÷Põm£õmiøÚ ÂÍUQ 

Auß ÂvÂ»USPøÍ ÂÁ›. 

––––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE 2019. 

Second Year 

BUSINESS STATISTICS 

Time : 3 hours Maximum  marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1.  Define statistics. 
 ¦ÒÎ°¯À Áøμ¯Ö. 

2.  What purpose does a measure of dispersion serve? 
 ]uÓÀ AÍÂku¼ß ÷|õUP® ¯õx? 

3. What is Index Number? 
 SÔ±möhs GßÓõÀ GßÚ? 

4. Calculate 3 yearly moving average of the sales 
given below: 

Year: 2000 2001 2002 2003 2004
Sales: (in Rs’ 000) 15 21 30 36 42 
Year: 2005 2006 2007 2008 2009
Sales: (in Rs’ 000) 50 56 56 63 70 

 UG-228 BCS-23
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 ¤ßÁ¸® ÂØ£øÚUS 3 Bsk |P¸® \μõ\›ø¯ 

PnUQkP. 

Bsk: 2000 2001 2002 2003 2004

ÂØ£øÚ: (¹’ 000) 15 21 30 36 42 

Bsk: 2005 2006 2007 2008 2009

ÂØ£øÚ: (¹’ 000) 50 56 56 63 70 

5.  Calculate Rank correlation from the following 
data: 

Judge X: 52 53 42 60 45 41 37 38 25 27

Judge Y: 65 68 43 38 77 48 35 30 25 50

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x uμ JmkÓøÁU 

PnUQhÄ®. 

|kÁº X: 52 53 42 60 45 41 37 38 25 27

|kÁºY: 65 68 43 38 77 48 35 30 25 50

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Construct an index number for the year 2010 
taking 2009 as base. 

Commodity Price in 2009 Price in 2010

Wheat 180 190 

Sugar 190 200 

Rice 200 205 

Cotton 210 215 
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 2009--&I Ai¨£øh¯õP öPõsk 2010UPõÚ 

SÔ±möhsøn E¸ÁõUS. 

ö£õ¸Ò Âø» 2009 Âø» 2010

÷Põxø© 180 190 

\ºUPøμ 190 200 

A›] 200 205 

£¸zv 210 215 

7. Calculate trend values from the following data 
using least square method. 

Year: 2000 2001 2002 2003 2004 2005 2006

Profit:  
(Rs: ‘000) 

300 700 600 800 900 700 1000

 ¤ßÁ¸® Â£μ[PÎ¼¸¢x «a]Ö ÁºUP •øÓø¯¨ 

£¯ß£kzv ÷£õUS ©v¨¦PøÍU PnUQkP. 

Bsk: 2000 2001 2002 2003 2004 2005 2006

C»õ£®:  
(¹. ‘000) 

300 700 600 800 900 700 1000

8. You are given the following data: 
 X Y 

Arithmetic mean 36 85

Standard deviation 11 8 

 Correlation coefficient between X and Y is 0.66. 

 (a) Find the two regression equations. 

 (b) Estimate the value of X when Y = 75. 
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 E©US R÷Ç öPõkUP¨£mh ÂÁμ[PÒ. 

 X Y 

Tmk \μõ\› 36 85

vmh Â»UP® 11 8 

 X ©ØÖ® Y US Cøh÷¯¯õÚ JmkÓÄU öPÊ 0.66, 

 (A) Cμsk Ehß öuõhº¦ \©ß£õkPøÍU 

PnUQkP. 

 (B) Y Ô ©vœ™ 75 GÐμ X Ô ©vœí–U PnUQkP. 

9. Calculate geometric mean of the following: 

 50, 72, 54, 82, 93. 

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÐUS ö£¸USa 

\μõ\› PõsP. 

 50, 72, 54, 82, 93. 

10. What are the various types of correlation? 

 Cøn¨¦ÓÂß £À÷ÁÖ ÁøPPÒ ¯õx? 

11. What are the objectives of averaging? 

 \μõ\›°ß ÷|õUP[PÒ ¯õøÁ? 

12. State the utility of time series. 

 ÷|μ® öuõh›ß £¯ß£õkPøÍz u¸P. 

––––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE 2019. 

Second Year 

Corporate Secretaryship 

BUSINESS CORRESPONDENCE AND 
SECRETARIAL PRACTICE 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1.  State the importance of business communication. 

 Â¯õ£õμz uPÁÀ öuõhº¤ß •UQ¯zxÁzøu 

SÔ¨¤kP. 

2.  State the advantages of sending circular letter. 

 _ØÓÔUøP Piu® AÝ¨¦Ávß |ßø©PøÍU 

SÔ¨¤kP. 

3. What are the qualifications of Company 
Secretary? 

 J¸ {Ö©a ö\¯»õÍ›ß uSvPÒ ¯õøÁ? 

 UG-229 BCS-24
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4.  Write a note on surrender of shares. 

 £[SPøÍ J¨£øhzuÀ öuõhº£õP J¸ SÔ¨¦ 

ÁøμP. 

5. Write a note on shareholders meeting. 

 £[SuõμºPÎß Tmh® öuõhº£õP J¸ SÔ¨¦ ÁøμP. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6.  Discuss the various functions of business letter. 

 ÁoPU Piuzvß £À÷ÁÖ ö\¯À£õkPøÍ¨ £ØÔ 

ÂÁ›. 

7.  Discuss the layout of the business letter. 

 J¸ Â¯õ£õμU Piuzvß Pmhø©¨ø£ ÂÁõv. 

8.  What are the guidelines for writing Collection 
Letters? 

 Á`À Piu[PøÍ GÊxÁuØPõÚ ÁÈ•øÓPÒ 

¯õøÁ? 

9.  Explain the need for drafting sales letter. 

 ÂØ£øÚ Piu® GÊxÁuØPõÚ AÁ]¯zøu ÂÁ›. 
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10.  Examine the powers and rights of a company 
secretary. 

J¸ {Ö©a ö\¯»õÍ›ß AvPõμ[PøÍ²® 

E›ø©ø¯²® Bμõ´P. 

11. What is a statutory meeting? List out the contents 
of a statutory report. 

 \mh¨§ºÁ Tmh® GßÓõÀ GßÚ? \mh¨§ºÁ 

AÔUøP°ß EÒÍhUP[PøÍ £mi¯¼kP. 

12. Discuss the essential conditions of forfeiture of 
shares. 

£[SPøÍ £Ô•uÀ ö\´ÁuØPõÚ {£¢uøÚPøÍ 

ÂÁõv.  

––––––––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2019. 

Second Year 

Commerce 

BANKING THEORY LAW AND PRACTICE 

Time : Three hours Maximum  marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. What is commercial bank? Give examples. 

 ÁoP Á[Q GßÓõÀ GßÚ? GkzxUPõmk u¸P. 

2. Describe briefly different kinds of banks. 

 Á[QPÎß ÁøPPøÍ _¸UP©õP ÂÁ›. 

3. What are the objectives of RBI? 

 RBI&°ß ÷|õUP[PÒ ¯õøÁ? 

4. What are dotres of a paying banker? 

 ö\¾zx® Á[Q¯õÍ›ß Phø©PÒ ¯õøÁ? 

 UG-230 BCS–25
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5. Distinguish between secured and unsecured 
advances. 

 Dmk •ß£nzxUS® Dk°À»õu •ß£nzxUS® 

EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. What are the functions of RBI? 

 RBI&°ß £oPÒ ¯õøÁ? 

7. Discuss the difference between holdes and holder 
in due course. 

 E›ø©¯õÍº ©ØÖ® CøhUPõ» E›ø©¯õÍº 

Âzv¯õ\zøu £ØÔ ÂÍUSP. 

8. Explain the various types of deposit account. 

 øÁ¨¦ PnUSPÎß £À÷ÁÖ ÁøPPøÍ £ØÔ 

ÂÍUSP. 

9. Discuss the various tools of monetary control 
available to the RBI. 

 C¢v¯ ›\ºÆ Á[Q°ß £À÷ÁÖ £n® Pmk¨£õmk 

•øÓPøÍ £ØÔ ÂÁõvUP. 

10. Explain the various kinds of endorsement. 

 J¨¦u¼ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 
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11. Discuss the principles of sound lending. 

 ]Ó¢u PhÚÎzu¼ß ÷Põm£õkPøÍ ÂÁ›. 

12. Discuss the various advantages of discounting of 
bills. 

 Pmhn® uÒÐ£i°ß £À÷ÁÖ |ßø©PøÍ £ØÔ 

ÂÍUSP. 

––––––––––––– 




